DAILY BASIS ASSIGNMENT
DAY: SATURDAY CLASS: V DATE:16.05.2020

SUBJECT: ENGLISH

l. Choose the correct pronoun to complete the following sentences.
1. Youand must work together.
a. Me
b. My
c. Him
d. |
2. She has gone to Chennai, is her birthplace.
a. Where
b. Who
c. Which
d. That
3. Thomas is my brother. IS twenty.
a. She
b. He
c. They
d. We
4. They decided to buy the house because ___ location would allow __ to getto
work very easily.
a. Theirs/them
b. It/ themselves
c. Its/them
d. They/us
5. tworings here on my little finger belonged to _ grandmother.
a. These/my
b. That/ mine
c. Those/me
d. The/myself

SUBJECT: EVS

1. CHOOSE THE CORRECT ANSWER.
1. Which of the following seed or plant are not dispersed by explosion?

a. Lotus b. Beans c. Pea d. Balsam

2. The crops are harvested at the



a. Right time b. Farm c. Season d. Closed
3. Birds eat fruit and swallow their
A Seeds b. Leaves c. Thorn d. Hook
4. The seeds should be sown in the right type of soil to ensure maximum
a. Production b. Agriculture c. Farmer d. Explosion
5. The seeds disperse by animal should not have

a. Hooks b. Barbs c. Sticky hair d. Explosion

SUBJECT: MATHS

I. Choose the correct option:

1) The cost of 5 books is ¥750.What is the cost of one book?

a)3100 b)X150 ¢)3560 d)X320
2)The cost of one pencil box is T130.What is the cost of such 6 pencil boxes?
a)X145 b)3350 c)X780 d)%456
3) The cost of 7 m of cloth is R294.What is the cost of 1 m of cloth?

a)42 b)350 ¢)335 d)82
4)32+8x12-5+10=........

a)83 b)45 )12 d)53
5)18+20+5%2-12=.......

a)28 b)14 c)42 d)54

SUBJECT: COMPUTER

l. Choose the best options from those given below:-
i) 1024 GB makes a

(a) Megabytes (b) Gigabytes (c) Terabytes
(d) Bytes
i) Presence of small electric current is and absence of it is

(@) 0,1 (b) 1,0 ©)1,2

(d) 2,1



iii) The smallest unit of data storage is a
(@) KB (b) GB (c) MB (d) Bit

iv) A small lightweight, portable and a rewritable memory device
() USB (b) DVD (c) CD-ROM
(d) Hard Disk
V) A storage device made up of flexible cellulose plastic and coated with magnetic oxide
(a) UsSB (b) Hard disk (c) Floppy disk (d)CD
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